EANRAROBREIEHRT — 2 N—XBISYH —F 2014438138 (K) 28EEM4R

m C2=Z ¥5%4m%t ‘ [X%&] ™ ‘ (] — | & (B) 14000 FR
[AE£] 1% :250,000 ™ ~ 2%&:45,000”  37%&:22,500 W  43%&:12,500 53 :7,500 0
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
g s — AiE :29. —-2-1- . — A (EH
2lgl7re-v=7n 5 & 1(2_9)1 2-2-1-1 | 39.4 1 22) IJ-IZ’K%Eﬁ'
RANTYALRE— BT HE—AYTF—T 94T — I
= 5 | WER 1:30.1 10-10-10-6 | 37.6 | — 6 495 | OB (k)
EE 6| FTHZ 56.0 ®) (1) |BETEX
b=t AR B:XaUIAHS BEZ %Y K
. . T2 . 5 a_ _ PAHIERS ()
3l1]1|7=dvoF i o4 S 1(73(1):)2 6-5-3-4 | 39.6 3 (4_418) UL.I\ZS:‘%
LIT7IN=K B:¥rty bRZ— K HfE
N 4 5 | BEHT 1:30.4 3-3-5-3 | 40.1| — 5 434 | FHAEE (FE)
] 4N/ 74 54.0 (1 1/2) 2) AAY T
LHISTLIFL b BiLF1ToHA N2
= # 5 | KIUEFE 1:30.6 9-8-9-10 |38.9| — 8 462 | WAFZ (EM)
5155 %7 54.0 (3/4) o) |EERX
R:7 R34 vYaY—> B:O—LIELT— e
S S o5 | HE— 1:30.7 7-1-7-7 | 39.6 | — 2 489 | =EEZ (EH)
618110 XA 39INT Ty 56.0 (3/4) (43) | PAiEIRILE
R:Nd B:Aq4YavhtEya KE FB
HERHNE : -8-8- - LRl (EA
7 3| XF—vFzU- B 7 BEME (17;32)% 8-8-8-9 | 39.0 7 (4_633) TiE
LTI RTLE— BiN=N—FT3— ULk
Vi = HRE :31. ~4-2- . - EFRE (EH)
8l7l7|7VLV>ZT 55 1(321)0 AR ‘ ;‘_g IR
L:77NTZT B:IUxv /S I1— NETHIS
. s 4 | NEBTF 1:31.4 1-1-3-5 | 41.4| — 10 | 429 |BBFIEX (EB)
N > DR el 54.0 2 1/2) o) |B) T PN S
LT RIAYT w8 BVFILANRS—L hid  HEER
o= o6 | BNEF 1:31.7 4-6-6-7 | 40.9| — 9 456 | LEZER (EM)
10/8|9| 7V AKT— 0 (1 3/4) Cpy | DuEEE
L:OYRNIAZ2Y BT RT— BRI
® 1—F—@EBIERL
1T=7r= 2,8,4,(7,9),1,10,3,5,6
23—75— |2,8,4,7,1,9,10,(3,5),6
Ja=5= 8,7,(1,2),4,9,10,3,5,6
40—F— 8,7,4,1,2,6,(9,10),3,5
[ N5
B 8 140 714K 6-8 200M e E 6-7 6009 JEE 1-6-8 1,990
B B 8 1004 1-8 250M B = 6-8 460M JEE 8-6-1 3,900
6 140 1-6 960M B H 8-6 600
1 1609

ABICOVWTRDTEEERROODE. TR LIV,



